2)

3)

%)

<

4 jio

Jio

=]

4
k.G 0)Hm = ke L= . Kemly

N

{

ko= K
8 G s ke

/ & _i{rJ
—x

P
N

X
s ]

& jio

L

~—

Y
—_—
(>6) (b 2) D
o - -6~2+0 __ 8
3 - >
2
k= = B(or6) DL gre) (0 ) = "l—K: _w > ‘J_K - A=~ @9028
“ dn Y PR
T,
gp; T3
14 keplmen) z5 N :,ljoo
Yk =—( pw(gasy) (> =0 (et A =4
1Tl (o) VK‘Gw'b“’a(ﬂwv)CD Yk= wso'+w16 120 gaty
_ ) . Y - = 219~ pt
<=2 —w30_w1&4w410 k=g ;;_;{ W +w1i2 =0 _ W=0V «™n=g :3\731 0
~al¥ +yk=o \ Kegw -
6 = 240 =~ —8-
3 3

€) Owdne 5 pud e D28
d) g k> 7 igpda b))

=0

kc(g)l-lm:k,_'i A
Mor1d) 5

/

» 25

2
k:‘M :)#:_w - JK O%’a:"".‘ﬂ
M )

Y dn ~

NI 1L
@’51“13
™ _(_‘STf

(D:Es’ls
- +
o= ’_—__19_\'09:_\1
3

2
HKGOHD =0 o K=~ AT(041) =-2° _p*

dx

2
d'.) =M - dup

2 ~ -
ap-2yb=o > IH=0 [
) ub X < C?Di/):-oj

=N"LUte P -

k==p_ g q:/ljw

-0J3 ~o

<_4)_0J2+ =0

e
Ab+’llr€n< = > -w/{]—uéﬁk:o

) klO

A:/;]D

Série3 Page 1

"

UU:\]?)_
k=2y



/ _

4
oC=02 KGelHg- ks — . -
’ Lk/ﬁ(wﬁ(?"x)

__k’_l ( 4+0\1b):k_
A(p+1) n

02(s5+n)
Al(ll -l-12_-)

-12-0-0 +5
g = 2 =-35

i)
|

rls
pg

e

0:2(A+s)
T+ K\—_O > k> \,\l(h\’fﬂ

2
N atn QL(p49)

3
W
©

9

k\
Ja 2P Mo

O s tmg, qann & on iul o ko0

/4 KG(D) (q)— » — . =
x Iz K Mo —1 o)

1 ( 4+b)_\k_ N+
N (P+19)

-k - N
n A(n+12)

(A+/|)
(om m-m 2, 2,

;—;\ =0 ) ),51: - 2.3y
2 =12
2% 5.4 vx=-2
X=-,62%

] ) met \
B A R R s

P P =23 b e Sl G k= 39S can sl g,y 15738

1) o) Ym(“’“ A (L n+a)

(n) - .
Y»a .\_(c:,L )N RN+ L s A NEA +Yp42 =0 o

AN hlz-(/h1+‘4A-\-2] <=> -4-|— (}LL -0
/\11-14/\4)_
2
k 6(a) Hib) =G,
(A4 2493) (A )
o N
t Q'
(9 IL Oqu I'ZD"-"] olfq
—_— = — =0 = - _
o= - NH1h 1y N A$ an Y )hf 1
A-

ﬂ) Y= 0.64 (G r1)Meuns+ 2 =) AlF\q b+ =
(Gl (gu)

l :?_‘02 ol L
/ é,(;\—/l _ — - )4 = on \\7 ‘é,:_ w>0,04 ,
\ 2> G - - - 08+ 05
2 2 =) —P"JOD
sq} l,w) \
ot Co =321 —o.ub-405

Série3 Page 2



) o) o<k, < oo
=2
Mm=3
- D(D+) (A
kc"(b)H(’ﬁ)=k4 lo( 1+Q.20) om=1 K= = —#ﬂ)
)
A+ )(04n) : "J'°;2°) ,
454 _ DR MR esh+$S N 4 upt + 65D +55 ©
AN ('H-S)l V\—DAQ’,—'I_OS
-2-11ts \}_ -
0—;\: 2. - }’_b,
F—>——— €
-1 s v -
K= ~ w) ) kG(’&)H(’J)=k4 {o( 1 +0.21) } £,=2
£) 1= to(140.20) A +>)(04n) AN (K412 rupr20=o
ZEI_ _ 2pn Y 2 NE.
=T T =Y 2MM o) p= -6, N4 Mb S 41" +UN o=
k 6(n) Ho =, lo( {+0.20) dn 2 = 58 T N1 RN n
Al 16N LR Koo Demptenno oA Nhans® 1R uesorao Jn > betash
—_— -0 = - A°~+ Dl\/) == 3 " :> Nz —4|365
INIVITCIINNg 110 A=(N+m) Az 4,608
T e Az oanuds
L
'ﬁﬁi‘ﬁ‘ I"s' L ° / /]m \
‘\:@\ [ 1T
-1.3¢6
6)
Sk=20.5 => N a) C(D):\x(/ll./l—- Sk T4h>'|
j Vo&umw 93—7 T,]/b) ( T,\/b 3
7l Se- -2 o
b 7 s ey, T e 989 Pdjp |
% M 4{— Kn — T_":W
D(n +2) 1
Q
© = i (“ﬁ):m;L +
-\‘5\1\/ ==Y
\ o ‘ P R &
?&D&afﬁn D:-H'—"—’l\g \( - <2 ) ¢
a6 \
A2 i
C) )= K AiP Mm)wﬁ\“}\
X
—l‘P'O-\-i‘ Moa
G;:-_——'_\SL]:>P7/6+% _
1 o - -2 o—o+or\<_.‘:\’_o<7/€
31
<6, A41°
Pk ol &Wo— Gy~ 6, X1

> Q CohSas d malfy B = ~149 )
l) Z2=Y ) Gp=%0 611=‘11°

) | A+11] [ nenl [ ] "
- - ==
F:?lg(ﬁ,,) t)F:P 4_,1::/1,] {k{: ”51_‘1'
uK ¢
et kb 06 ope 21 L 2E L T
A Po N1 N(o+2)

M
€\ m = 2 = 0.05¢ FALHAL

lli') Pz +o >y 6({:0 = 03%{410

2‘8,:/%(9,) =y 222 4u (3

kI 6

N->0

Série3 Page 3

Ky = lim g 6001 = Aok oG48 -

[ 13k
/;(—w_): 2 g\[(’m =
Tom & Mgzt



@
) kK6 HY) = szi

m=-o
14 ’(Ai::" 1L ) .
=-x
dk - JK:D =) b=
. S DT ==2h 4 o
\ 14 - N
O ploo st e e a, Jreyieit
ﬂ"a‘* o vt 5 Wf?wﬂnwg ;m)la’wg\
Q’) kG(A)#(a)zkéLj
! 7
M =
e < ——0
}(:—A1 ”l_k - 2lb(h+:|)- A =
D+ Py
2 M=o
LA(B+) - =0 <=2 A 2D =0 { Nz~-2
m=2 ;?
™= @k 1“71 Z e wlaf.
o <1
o
C) - |~p-0
RY ) .
k 6(n) Hin) = kP- -;:-P . 7{.1 Oy = n.s
_ = 2N
P=1o b, = = :(W_EIJZT?
N+
T _\4 N p+10) Nt oA ;
o == S -
=2 k(A eaon)(ab0) - Aot
m=1 In- —

9 2
(3/\2+2ols)(h+4) “N 10N 20 (=D

= '-.SA.3 ¢ 20A % 3NTH20) o —p o

2 N=o
&> INH13NHWN 20 Ne oy

Nz -5
N

Série3 Page 4




